~N

! 162"
::ETNEUTRAL
12
1>E‘§ECDNDARV
| 30"
-
SECTION A—A
4&/{_
2 O BOLT HOLE
13 B
31 4 o 27 & SPARNEDTBDULSTEDHDLE
13 B
A | 250W HPS
400W HPS e BOLT HOLE
TITLE: (
250W OR 400W HPS -
DRAWN BY: |[DATE: APPROVED BY: L‘GHT ON WBS’ MAST GKQLAN [“’!
JC 9,/20 /11 ARM TYPICAL POWER&LIGHT
INSTALLATION FOR e
REVISED BY: |DATE: APPROVED BY: STEEL POLE OH*W 006

\_

AN

_/




Construction Standard Material OH-1006A

Title:  250W HPS LUMINAIRE ON 13.5' ARM STEEL POLE Rev. Date: 12/1/2011
Pic # Description WAREHOUSE # Qty uom
1 MAST ARM 13.5' FOR STEEL POLES 528-67-42320 1 EA

LUMINAIRE, 250 WATT, HIGH PRESSURE SODIUM W/ SHORTING CAP,
2 120VX240V 528-50-17000 1 EA
3 LAMP IGNITRON 250W HPS 528-40-12130 1 EA
4 CONTROLLER PHOTOELECTRIC 1000 528-65-12070 1 EA
5 ALL THREAD ROD 5/8" (TOOL ROOM) NOT IN INV 1 EA
6 #12 CABLE TYPE SIS STR SWBD 500 FT ROLL 280-16-13605 20 FT
7 NUT 5/8" SQ MACHINE 285-08-56634 6 EA
8 WASHER SPRING DOUBLE COIL 5/8" 500/BX 285-08-85430 4 EA
9 WASHER SQUARE 5/8" 285-08-15320 6 EA
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
Garland Power & Light
OH-1006A




Construction Standard Material OH-1006B

Title:  400W HPS LUMINAIRE ON 13.5' ARM STEEL POLE Rev. Date: 12/1/2011
Pic # Description WAREHOUSE # Qty uom
1 MAST ARM 13.5' FOR STEEL POLES 528-67-42320 1 EA

LUMINAIRE, 400 WATT, HIGH PRESSURE SODIUM W/ SHORTING CAP,
2 120VX240V 528-50-17005 1 EA
3 LAMP IGNITRON 400W HPS 528-40-12140 1 EA
4 CONTROLLER PHOTOELECTRIC 1000 528-65-12070 1 EA
5 ALL THREAD ROD 5/8" (TOOL ROOM) NOT IN INV 1 EA
6 #12 CABLE TYPE SIS STR SWBD 500 FT ROLL 280-16-13605 20 FT
7 NUT 5/8" SQ MACHINE 285-08-56634 6 EA
8 WASHER SPRING DOUBLE COIL 5/8" 500/BX 285-08-85430 4 EA
9 WASHER SQUARE 5/8" 285-08-15320 6 EA
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
Garland Power & Light
OH-1006B




